PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
9th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Who administers the oath of office to the President of India? /aﬁ-—r HIRd %wgtri%r &I uaa%’r Wﬁ?l'l?ﬂ %?
® The outgoing President / ﬁlﬂ?hﬂ?l'gqﬁf
® The Prime Minister of India / U & gUTH=
® Chief Justice of Supreme Court / Rﬂ'm'q ﬁ’é%'ﬂ'@ qrardtr
® Speaker of the Lok Sabha /Fﬁ'a?ﬂ‘lﬂ & e
Correct Answer :-chief Justice of Supreme Court / WTH B¢ & G <=
2)
Question Stimulus :-

Tomb of Tansen is locatedin ./ AR & HHaERT A Ry« %I
 Gwalior / TTfeRAR
® Indore / Ea?
e Ujjain /IS
® Morena/ 'ﬂa_'ﬂ

Correct Answer :-Gwalior / TdIfelAIR

3)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the
third word. / 99 Uy &, Ugd <! Weal & & WY Tay §| F el & § Dt v g Porre R
e & ATY I UHR FT AGY 3|

FOOT: INCH :: MILE ? / B¢ : 59 :: Wi :

e METER / HI&X



e LITER / @R
e YARD / TS
e HOURS / 9u¢

Correct Answer :-YARD / 4TS

4)
Question Stimulus :-

The son of Shahji Bhonsle was /Q’I'I?Tlﬂ g & E) )}
® Bajirao / SSIRTE
® BalajiVishwanath / STl fay=my
® Shivaji / FRrareit
® Raja Man Singh / SIT €A Rig
Correct Answer :-Shivaji / RRrareit
5)

Question Stimulus :-

Which state government launched “Chandranna Bima Yojana”, an insurance scheme for the working class people? /

5T I=0 AR A AT ST G, TeigR a¥ & AR & AT T 91 AT JRE 3t 82
® Andhra Pradesh / 318 W&=T
® Uttar Pradesh / BT'R'?I%S!T

® Madhya Pradesh/qwm
° Telangana/a'?i"'l'l""ﬂ

Correct Answer :-Andhra Pradesh / 3iY U&=T

6)
Question Stimulus :-
First woman president of the Indian National Congress was / HRAY ?Tg’fq aﬁaﬂ B YYq 'FI'[%?IT ST off

® Annie Beasant / E'Fﬁ e
® Sister Nivedita / Rrex ﬁaﬁ_(ﬂ



® Sarojini Naidu / SRS aiag

® (Captain Lakshmi / a’_E:I' Fl'&iiﬂ
Correct Answer :-Annie Beasant / G-l dH¢
7)

Question Stimulus :-

Which state borders Madhya Pradesh on its western side? / ] e & ufyw # fore oy & iar @it §'§
8?2

® Gujarat / ToRRTd
® Chhatisgarh / SUITG
® Uttar Pradesh / 33} 'Q%QT

® Maharastra / HERTY

Correct Answer :-Gujarat / JSRTd
8)

Question Stimulus :-

If S+K means S is the sister of K,S-K means S is the father of K, S*K means S is the brother of K, what does
P*M-D means? / Ufg S+K BT HF 3 fh s, KA Tea3 Td S-K P13 s, KF1 U1 3 W S* K &1
43 s, K®T T3] P*M-D &1 T 314 &2

° PisthenephewofD/P,Dﬂﬁ'l-lT'ﬁ\_rﬁ%

° PisbrotherofD/P,DW‘l-ﬂ%%

° PisfatherofD/P,Da‘T[ﬁ?lT%

° PistheuncleofD/P,Da‘T[ilﬁT%
Correct Answer :-P is the uncle of D / P, D &1 Il ?
9)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁt{
Sit 3T T Fy=l Td el & R § 98 B

Statements: / ®Y:



All juices are drinks / 9t @ 9T &

Some drinks are beverages / $© 4,99 ugrd &
Conclusions: / faemd:

I. Some juices are beverages / I. $9 Sd 99 uerd §
II. Some beverages are juices / II. $9 a'qw?fiiﬂ g

® Only conclusion I follows  ad feed 1 e %

® Only conclusion II follows / Fad ey 1 fReaan %

e Both conclusion I and II follows / G| 5Py I 3R 11 FPpaq %

e None of the conclusion I or II follows / ﬁwﬁf 19T II '\Q aﬁ% qﬁ ICEANGIN %
Correct Answer :-None of the conclusion I or II follows / fed I a1 11 & & aﬁ's‘ '_'Iﬁ IBETSG %’
10)

Question Stimulus :-

Who received the name ‘Abhay Sadhak’ from Gandhiji? / it § 'S4y Iee” 99 fHae! ura
gam?

e Baba Amte / STST 3{THS

® GK Gokhale / Sta @t

® Morarji Desai / m ﬁ'@n‘é
® DK Karve / S1% &d

Correct Answer :-Baba Amte / 9191 3THS

11)
Question Stimulus :-

Which of the following was set up by Government of India in. 1976 to prov_ide e-
Governance solutions in the Government sector? / fAuferfaa # @ 53 1976 A YR IWHR gRI
WHR &F H §-7T99 & J1U9 USH $1 & fore wifua far mar yr?

® Department of Electronics and Information Technology / Wﬁ?\q 3R LSkl wenfirest faumr
® National Informatics Centre / JTPII AT faqm &=

® Ministry of Information Technology / d-T PIGIUCIRE I



® Electronics Corporation of India Limited / sﬁaﬁﬁw PRURK 3T sfear fafires
Correct Answer :-National Informatics Centre / ?Tf"q GCRL fagm &=

12)

Question Stimulus :-

In a five star hotel, 6 housekeeping staff of a hotel A, B, C, D, E, and F are setting up their
room cleaning schedule such that each of them cleans on only one day in a six days per
week schedule.

/

If F cleans on day 6, D cleans on day 4.

If A cleans on day 4, D cleans on day 6.

If A cleans on day 3, E does not clean on day 3

If A cleans on day 1, C cleans on day 6.

C does not clean on day 4, unless A cleans on day 1.
B cleans either on day 2 or on day 6.

If A cleans on day 1, F cleans on day 5. F does not clean on day 5 unless A cleans on
day 1.

If B cleans on day 2, E cleans on day 5.

TP BIgd KR EICA #, A, B, C, D, E, 3R F §Icd & 6 I@IWG TP YT HHI TP B BT HTUHH 34
TPR 4 A IR ¢ b Tde g 7 ufa Jwe oded & Faa e & T 9 s @ |

Ife F fd 6 TR A6 &ea1 g, o D fd 4 WX A% &=dr g

<>AfTAARIEFAOE, ADRT6 RITB IR < >ARTIWRAG Farg, ME RT3
WRAG TG FAT |[< >ATRT 1 R IAB a1, AN C T 6 WATE Har 8 | < > RT 4 W A% 8
Pl Fddh A e 1 W AP T Pdi< > T 2 3yar i 6 W AW FRa12|< > A o7 1 W aw
AT 8, d F e 5 W 916 &1 2] F @9 5 IR 9% 98) &=d1, 59 d& A fd9 1 . 9% T8 #va1] <
> B a9 2 W A% a1 §, ot E fd9 5 IR A% &ar g

If B cleans on day 2, which of the following is a complete and accurate list of days F could

clean. / af¢ B f31 2 W 1% &=ar 7, af Fw § A 3 e &1 wyef ofik 9t G #19 Wt 8 919 F 9% o=

Hbdl

g

1,4

4,6



° 1,4,6
Correct Answer :-1,4,6

13)

Question Stimulus :-

EMLI, the full form of which is is a fixed payment amount made by a borrower to a lender at a specified date

each calendar month /é@arrs‘,m_qﬁw%, Emaﬁaﬁ%mmﬁaﬁwmm%m
Yira™ v iy fafy w vade arg g gl

® Equated Monthly Installment / TRT® fwda

® Equal Monthly Installment / HHTT iRr® fre

® Equated Monitory Installment / IRTSR Tay® few

® Equal Monitory Installment / HH TSy foe
Correct Answer :-Equated Monthly Installment / TR fhwia
14)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe

g ah st IR REwHFsH FIu= 2 :

The IV World War will be fought with sticks and stones. / IV fd¥y g of$ul td u=Ri & @er
SRR

e (Civilization is going backwards. / J¥dIl S $1 3R =1 W@ %I
® The weapon industry is slowing down. / E'fﬁ'q'lﬁ BT G AT E?f el %I

e In the V World War, nuclear weapons will again be used. / V fay & ﬁ:, AIYPIT 3d SERT
SIIAHTA BI |

e The ITI World War will end in a holocaust of the entire world. / III fay & '\‘I'Cj:Uf fay & gdam
H {HTE R

Correct Answer :-The III World War will end in a holocaust of the entire world. / III ﬁ’H &

Tyul fay & wd=m=r & g gem|

15)

Question Stimulus :-



Name the tribe people who actively participated in the revolt of 1857? / Ofhd ¥4 ¥ 1857 & fagis # 4N A4 9@
SIwId & ART T A1 |

The Bhils / Y&

The Gonds / M

The Korku / PIRE

® The Bhaiga / am

Correct Answer :-The Bhils / ¥id

16)

Question Stimulus :-

Who is the Attorney General of India? / HRd & mﬁﬂ' ﬁ'—r ??
® Ranjit Kumar / ol PHR
® AP Shah/TU TR
® Mukul Rohatgi / Fd Agavit
® L. Nageswara Rao / Udl. ANYR 3G
Correct Answer :-Mukul Rohatgi / §Hd Agailt
17)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g, ab st IR REwHFsE FIw= 2 :

If Emily gives up her job, she is getting engaged or planning to do an MBA. / gfe uferelt sru=ht
el BIs ¢l §, df 98 fAaE-3g Ta9cs 1 W § a1 MBA T3+ &1 9 @l 81

e If Emily is neither getting engaged nor planning to do an MBA, she does not give up her job. / ?T%

Qﬁlﬁ’f%?ﬁﬁﬂﬁ %‘g'ama’raﬁ%qiﬁMBAaﬂﬁaﬂ@aw% dt ag et T8

¢ If Emily does not give up her job, she is not getting engaged or she is not planning to do an MBA. /

gfe uftrelt st e T8 Sisd! €, a a8 faae-3q auags ) 81 3 € a1 98 MBA
P4 PT 81 9 W B



e If Emily is getting engaged or she is planning to do an MBA, she has not given up her job. / ?T%

gﬁﬁﬂﬁaﬁ-%gmﬁw%magMBAmﬁmm?ﬁ%,aﬁwﬁwqﬁ@@
|

e If Emily does not give up her job , she is not getting engaged and she is not planning to do an MBA

/ afe eftreft eruft i dt €Y Bledt @, i a8 faare-8q Tades el 81 78l ¢ 3R 98 MBA
F BT T8l 9" L

Correct Answer :-If Emily is neither getting engaged nor planning to do an MBA, she does not give

%%ﬁwqﬁm-ﬁmﬁﬁ%qﬁM%mﬁmmwﬁa‘ra's'

18)
Question Stimulus :-

Maximum strength of Lok Sabha envisaged by Constitution of Indiais __ . / AHIHT DI
Sfpan TR YR & WA gRT IRSfRE 8, ST E__|

® 530

® 550

® 552

® 540
Correct Answer :-552
19)

Question Stimulus :-

Choose Fhe number which is different from others in the group. /39 I8 G| gﬁﬁ
ol THE § 91! qa | 3 2|

e 35
® 45
° 49
® 65
Correct Answer :-49

20)

Question Stimulus :-



The national animal of India is the / HIRd &I ?Tgm U %
® Tiger /dld
® lijon /‘xﬁ?
o EIephant/ET?ﬂ

® None of these/ﬁﬁ@aﬁiqﬁ

Correct Answer :-Tiger / dT9

21)
Question Stimulus :-

In one family, there are several children in which each girl has as many brothers as she has
sisters but each boy has sisters which are twice of brothers he has. Then how many

brothers and sisters are they? / T& URAR ¥, 9gd ¥ 9= & oW TS dsa! & Ia1 ﬂ-né%ﬁl?Fﬁﬁ?
wﬁaﬁ%aﬁﬂma@%ﬁmﬁmﬁ%mmwﬁﬁ%laﬁﬁmﬁmﬁsﬁvaﬁﬁ

® 4 Brothers, 3 Sisters / 4 "—n'é, 3 aﬂﬁ
e 4 Sisters, 3 Brothers / 4 Wﬁ, 3 ‘l-l'lé
e 4 Brothers, 4 Sisters / 4 'l-l'lg, 4 a%ﬁ
e Cannot say / :I—Eﬁa"_b' Thd

Correct Answer :-4 Sisters, 3 Brothers / 4 aaﬁ', 3 %-n'é

22)
Question Stimulus :-

Who appoints the members of the Union Public Service Commission? / DI WY AP JaT TANT & Jag ﬁ'gaa
T 82

® President / ?quﬁ

® Prime Minister / WUTT Tt

® Chairman of UPSC /@Eﬂ'\‘ﬂ & e

® Chief Justice of Supreme Court / ﬁm'q Cackg ST qrardier

Correct Answer :-President / JgUfd

23)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g ab st IR R FsE FIw= 2 :

If you pay the bill then I will send the TV otherwise I will send a watch. / af¢ gq faa &1
YT B ot & TV A9 1) o & gt A5
e If you do not pay the bill then I will not send the TV otherwise I will send a watch. / afe qH faa
BT YA gl S af & TV T8 U Sr=aym § aSt U
o If you pay the bill then I will send the TV or a watch. / afe g9 fel &1 YA SR @A ATV a1
gSl I

e If I do not send the watch and send the TV then you must have paid the bill. / gfe A 'ﬂ?ﬁ _q ﬂq

3R TV WS @ A I &1 YA s fan ghm

e IfIsend the watch and do not send the TV then you must have paid the bill. / 'CI'% A 'Eﬁ-ﬁ ﬂq Gﬁ?

TV 7 U9 df g4 f3a &1 Yrar= = fan ghm

Correct Answer :-If I do not send the watch and send the TV then you must have paid the bill. /

gfe ® g3t 9 U5 3R TV U @ gHA foa &1 YA &) fean g
24)

Question Stimulus :-

CBSE has launched ‘Udaan’ scheme to provide a platform to deserving girl students who aspire to pursue higher
education in . / HHITTS A 37 TG BT B H UG H31 & 1T IS AT I 1 8, Wt FHIH
& v S B FTHAT HRA 7

Engineering / Eﬁﬁﬁ'qﬁ'q

Medicine / farfereaT

® Law/PIJd

® Finance /fa%
Correct Answer :-Engineering / SO
25)

Question Stimulus :-

Where was the first mosque built in India? / HRd o '\‘W’\Q Uegdl 'FI'%IE ﬁ‘fﬁ A2

* Delhi/ faet
® Aligarh/ 3 Te



® Allahabad/ 3dlgldlg

® Kodungaloor/ w

Correct Answer :-Kodungaloor/ ﬁw

26)

Question Stimulus :-

Six students are sitting in a row. K is sitting between V and R. V is sitting next to M. M is s1tt1ng next to B is
sitting next to R. who are sitting on either side of V? / ©: BT Th ufea § 3% ET{ %l K, VTd R & A 93T
81V, M & U 931 8| M, B P U Td B, R & UTH 6T 8| V & gl 3R S 946 82

® RandQ / RTIQ

® BandM / BTdI M

* MandK / M T4 K

* KandR / KTd R
Correct Answer :-M and K / M Td K
27)
Question Stimulus :-
p+qmeanspisthesonofq; / p+q@T3adeF p, qdT I ?
p - q means p is the wife of q; / p-q 134 8 fF p, q B Ul 8
p'qmeanspisthebrotherofq;/pxqﬁﬂ&ﬁ%ﬁ?p,qaﬂ‘l—ﬂg’%

P . g means p is the motherof q; / p.q P13 8 fF p, q F AET &

P = q means p is the sister of q. / p=q$13{2f%ﬁ'7p,qib°f337{%

WhatdoesP=R+Qmean?/P=R+Q$IEPZIT3Rf%?
o Pistheuncleon/P,QEh-fiIﬁT%
° Pisthedaughteron/P,QﬁE?ﬂ%
° Pisthenephewon/P,Qa?_l"l-m\_rlT%

e Pisthesister of Q/P,Q B T &



Correct Answer :-P is the daughter of Q / P, Q @t H'?ﬁ %

28)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁl‘q
it f3E e Hy=Y ud frsnuf F 9 § 9 2

Statements: / ®Y:
No crickets are stones. / IS fpde TR T8I 2|

Some stones are bags. / $9 UK T %'I

Conclusions: / frpd:
I. Some bags are crickets. / I. $& &7 fhde B
II. Some bags are not crickets. / II. $9 a1 fpdpe :ﬁ:ﬂ%l

® Only conclusion I follows  Fad fased 1 fAreearn %

® Only conclusion II follows / Fad ey 11 fAeaan %

® Both conclusion I and II follows /Eﬂ:ﬁ e 1 3R 11 Raad %

* None of the conclusion I or II follows / A=Y I @1 11 A | ®I¥ & FRpaar @
Correct Answer :-Only conclusion IT follows / Fad fAwpd i1 fAeaan %
29)

Question Stimulus :-
If A+B means A is the daughter of B, A/ B means A is the husband of B & A*B means A is
the brother of B, what does P/Q+R*S means? / 4@ A+B #1383 fF A, BHI T g ud A/B &7
FfgfF A BaTUf B ud A*B ®T 3 8 75 A, B &1 UE 8] P/Q+R*S &1 &T 3 82

® Ris the father of P / R, P T fUaT &

® R is the brother in law of P / R, P BT HTdl %

® Ristheuncleof P / R, Pﬂ?‘lﬂ'ﬁﬂ%

* R is the father in law of P / R, P T IR &

Correct Answer :-R is the father in law of P / R, P &T {3 @



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg ICCEaR ﬂﬁ'E
Sit 3T T YAl wd el & R d 9L R

Statements: / ®Y-:
Some rollers are horses. / $9 CRE ‘Eﬁ%%l

All boats are horses. / 91 9@ 912 g1

Conclusions: / fa=pd:
I. Some boats are not rollers. / I. $ 1 3@ "¢l ¢!

II. Some rollers are boats. / II. $S 3@ -9 &l 8

® Only conclusion I follows / ad freed 1 e %

® Only conclusion II follows / Fad ey 1 fReaarn %

® Both conclusion I and II follows / E:Fﬁ ﬁwﬂf I \’rﬁ? II Aoad %

e None of the conclusion I or II follows / ﬁwﬁf I II® '\Q aﬁ% T'Iﬁ Aredan %
Correct Answer :-None of the conclusion I or II follows / fed I a1 1T & & aﬁi qﬁ IGEASGI %
31)

Question Stimulus :-

Pointing to a boy Sheeba said, "He is the son of my mother-in-law's only child”. How is the

boy related to Sheeba? / T& dsd P 3R IXRT Hd ¢ MaT A T, “ag A I & PN 9= BT
T 27| w81, XMaT | A e 82

® Son/ deT
e Grandson / UXdl
* Nephew / Hdlell

® Brother / ‘H’I§

Correct Answer :-Son / acl

32)

Question Stimulus :-



CANCELLED
River Kali Sindh originates in the district_. / ®Tell g 9t __ fora & I Aoad 81

® Morena / 133711
* Vidisha / fafe=m
® Gwalior / T@IferAR
® Indore/ Eﬁ'\'

Correct Answer :-Vidisha / fafezm

33)
Question Stimulus :-

Capital of which state means ‘fort of bricks’? / 5T =g B TS BT 3 % 'ﬁ &1 fear?
® Assam / SHH
® Chattisgarh / Eﬁ'ﬂﬂ"ﬁ

® Arunachal Pradesh / (2 U0ITdd m

® Jharkhand / SIRGS

Correct Answer :-Arunachal Pradesh / 3[SUITAA m

34)
Question Stimulus :-

If P+Q means P is the daughter of Q & Q+R means Q is the brother of R, how is P related to

%R?/!JﬁP+Q37‘IGRf%ﬁ?P,QTﬁEEﬁ T4 Q+R &1 Y %Q,Rmmnéépkﬁmmwﬁm
?

° PisthenieceofR/P,Rﬂﬁ‘l-l_anﬂ%
° PistheauntofR/P,Raﬁ?ﬂ?ﬁ%

® P is the daughter of R / P, Rﬂ%g?ﬁ%
° PisthemotherofR/P,R?%'Fl'l_clT%

Correct Answer :-P is the niece of R / P, R @ Hdlsit g

35)



Question Stimulus :-

If A+B means A is the daughter of B, A/B means A is the husband of B and A*B means A is the brother of B,
what does P*Q+R/S means? / GG A+B FT A e fF A, BHI e vdA/BHT ad e fF A BHT UG B

Td A*B &1 3d 8 fF A, B &1 4TS 8] P*Q+R/S &1 T 34 82
° SisthemotherofP/S,Paﬁ:I'lT'lT%
° Sisthemother—in—law/S,Pﬁm%
® Sis the daughter of P / S, P | ﬂ':ﬁ %
° SisthenieceofP/S,Pa”ﬂ‘l-lT'ﬁTrﬁ%
Correct Answer :-S is the mother of P / S, P @1 HTdT 3

36)

Question Stimulus :-

Looking at a portrait of a man, Harish said, “"His mother is the wife of my father’s son.
Brothers and sisters I have none.” At whose portrait was Harish looking? / T& 3meHt & R
P 3T §Y, B A FEl, “sHP! AT W AT F 3¢ F vl 81 W F1g HIS a1 984 781 817 a9 fHad
P ¢ T UT?

® Hisson / 34 9

® His uncle / 34 3iFHd

* His cousin / 3[04 T2 UT§

* His nephew / 3[04 Hdlst
Correct Answer :-His son / 30 §¢
37)
Question Stimulus :-

The Supreme Court of India was set up - / HRd & ﬁ;ﬁ":ﬁﬁi DTS g3 YT-
® Through an Act of Parliament in 1950 / 1950 ﬁm faf gy & mvm‘\ﬁ
® Under the Indian Independence Act, 1935 / YR Wgadm GIﬁIﬁTW, 1935 % Gl?lﬂ_cl
® TUnder the Government of India Act, 1935 / HRd IRPR arﬁrﬁm, 1935 & 3fditd

® By the Constitution of India / HRAY AU gRT



Correct Answer :-By the Constitution of India / HRAII |IAYT §RT

38)
Question Stimulus :-

If its cookie or coffee then you get mileage. You get mileage then it was coffee. / SR

gg favpe a1 HIW) 8 @ MUS) ATSAS UT Bidl 81 STUH! ATSasT fierdT & a9 I8 Siwt @
* True / 9gl
* False / Tad
¢ Maybe / & W&al &
 Irrelevant / 3WTEfS

Correct Answer :-Maybe / 8 I&dl 8

39)
Question Stimulus :-

In which river basin is the Banjar River Project located? / ﬁmﬁ Tﬁﬁ Ul IR selR qﬁ gRaeHT fRYq %?
® Ganga/ T
® Chambal / I&d
® Narmada / T-I'Ffa'l

e Yamuna / 94-l

Correct Answer :-Narmada / THaI

40)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face

opposite to the face shown at the right? / af¢ IRt 3R W MPHfd Y g9 F1 AT F1 & AT wics
forar Smar 8, @ Ay Aol # @ o9 3 Aew § vas il ok REr T vae & fQAudd 82




Correct Answer :-

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Fill up the blank: 32 out of 160 listeners of FM radio are above 40 years of age. The percentage of such people

is_/ fraa ®F & WY trew Isa & 160 giarei § § 32 4id1 40 § FW F 3Y P & 39 @ B
ufamadr_ 8]

e 32

e 20

e 25

e 80
Correct Answer :-20
2)

Question Stimulus :-

In a certain code language 'Throw the ball’ is written as ' beton feksa sopy’ and ‘Ball is
heavy’ is written as ' deven sopy bata’. In that code language the word for 'Ball’ is: /
fr<ft W ®is T H, 'Throw the ball’ &1 ' beton feksa sopy’ 3R ‘Ball is heavy’ &1 ' deven
sopy bata’ A fer@r 8] St #is 4w § 'Ball’ & iU Oes B:

® sopy
® feksa
® bata

® deven

Correct Answer :-sopy



3)
Question Stimulus :-

If FAT is coded as HCV, how is MEAT coded? / f¢ FAT &1 HCV & Sifed fFar Sar g, af MEAT &1 39
Pifed fear Sirar 82

e OFBV

® NGBV

* OFCU

* OGCV
Correct Answer :-OGCV
4)

Question Stimulus :-

In the foIIowing q}lestipn, one term in the number series is wrong. Find out the wrong
term. / RO uy ¥, 4@l § TP UG TAd §| Ted Ue ¥ S| 2,6,12,20,30,40

e 30

e 40

e 6

e 12
Correct Answer :-40
5)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ"ﬂ =T gAPY SRGET DI T aﬂﬁrﬂ :

2,4,7,11,16,
e 18
e 20
e 22

e 25



Correct Answer :-22

6)
Question Stimulus :-

Find A and B, if 2A + 3B = 21, A-B=3 / A 3R B 9ITd ®If9Q, afg 2A + 3B = 21, A-B=3
* 6,3
e 3,6
* 9,6
e 12,9
Correct Answer :-6,3
7)

Question Stimulus :-

In an alloy the ratio of copper and zinc is 9:7. If the weight of copper in the alloy is 11.7 kg, what is the
weight of zinc in the alloy? / T fyTg ®, SR 3R I BT 3UTd 9:7 3| Al Ay # HIUR &1 994 11.7
fral 8, o fryrg & Sar &1 a1 YR 8?2

e 14.8 kg / 14.8 fFaly™
* 9.1kg/9.1 frarm

e 17.5kg / 17.5 fFaum™m
e 11.4 kg / 11.4 feaum™

Correct Answer :-9.1 kg /9.1 feam

8)
Question Stimulus :-

(1246 - 746) x 40 ="?
® 2000
e 20000
® 40000

* 4000



Correct Answer :-20000

9)
Question Stimulus :-

In the sequence shown below, which figure comes next? / 1 R@R Ta HH ¥ 3Tl 3Mpfd

g A D

(

.
%)
Y
=7
D

D

Correct Answer :-

10)
Question Stimulus :-

If DARK is coded as EBSZ, how is LIGHT coded? / 4f¢ DARK & EBSZ & ®ifsd f&ar sirar g,
LIGHT &I &9 ®Ifed fopar Srar 82

* MHKLO



* MCFOQ

® MHIKL

e MJHIU
Correct Answer :-MJHIU
11)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ"ﬂ &Y gADY el PR Hﬂﬁlﬁ :

i _hhg igh gi gh gi

® ghihi

® gihih

® hghii

® higih
Correct Answer :-gihih
12)

Question Stimulus :-

The multiple of 625 nearest to 904375977 is: / 904375977 1 fAHeaq HBAT S 625 HT YU 3:
®* 904375625
®* 904376250
® 904376625
® 904375750

Correct Answer :-904376250

13)
Question Stimulus :-

One of the items named in the words whose mirror images are given below is different
from the other three. Which one? / = ﬁﬁﬂ'{ 1LY a‘foT yfafds & I fht UDh q¥] dT A 3 GiG|
e & U 31 98 3 82



SNAAE
AAOR

SN
2V

2V

Correct Answer :-

14)
Question Stimulus :-

28 is 7% of a number. How much would be 32% of that number? / Th ST Bl 7%, 28 %| 39 GST BT 32%

w1 gH?

°* 53

e 8

° 128

® 96
Correct Answer :-128
15)

Question Stimulus :-

30% of A’s salary is equal to 12% of B’s salary which is Rs. 24,000. What is A’s salary? / A & ddq BT 30%, B &

AdT & 12% S U ¢ SN TP 24,000 T0 B A FT da9 F1 87
® Rs. 18,000
* Rs. 21,600

® Rs. 10,000



® Rs. 9,600
Correct Answer :-Rs. 9,600
16)
Question Stimulus :-

55% of is 385. / BT 55% 8 385]
e 525
e 285
e 700
e 315
Correct Answer :-700
17)

Question Stimulus :-

The link to the article on bank interest is found at / o I R A9 EL | IGEZR T L IRSIGH %:
http:///www.rbi.org.in./home/14764598740043275489.875.url

Compare it with the following and identify which of them has exactly one mistake. / ra & a1y 3"\‘1’3% LR

P UG Ugdard Y [P g8 A fpad A1 v Tad! 2]

® http:///www.rbi.org.in./home/14764598740043275489.875.url

® http:///www.rib.org.in./home/14764598140043275489.875.url

® htlp:///www.rbi.org.in./hone/14764598748043275489.875.uil

® http:///wmw.rbi.org.in./home/14764598740043275489.875.url

Correct Answer :-http://www.rbi.org.in./home/14764598740043275489.875.url

18)
Question Stimulus :-

In the sequence shown below, which figure comes next? / i RER Ta HH ¥ Tl 3Mpfd
P9 Ot gift?



Correct Answer :-

19)
Question Stimulus :-

If 25 salesmen earn Rs. 1000 in 10 days, how much will 15 salesmen earn in 15 days? / af¢ 25 gPICR
10 &Y ¥ = 1000 FUM &, @ 15 R & 15 gPHR fFa-1 FaARA?

® Rs. 750
® Rs. 820
® Rs. 900

®* Rs.930



Correct Answer :-Rs. 900

20)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁlﬂ =T gAPY SRGET DY T aa"ﬁ%m :

15,13,11,9,7,
e 14
e 5
o 7
e 9
Correct Answer :-5

21)
Question Stimulus :-

Raman sells his old bicycle at Rs. 1280 and loses 20%. At what price did he buy the bicycle? / I0 3q
RMT AI3PT 1280 = H 99l § 3R 20% TidT 8| 391 AisfFa of fvd gm o Tl

® Rs.1600
® Rs.1650
® Rs.1760
® Rs.1900

Correct Answer :-Rs.1600

22)
Question Stimulus :-

In a certain code language ‘Trains were late’ is written as ' Rakas som frok’ and ‘Don’t
be late’ is written as ' Bin’k drom som’ . In that code language the word for ‘late’ is: /
f3dl @ IS HUIWT #, 'Trains were late’ &) ' Rakas som frok’ 3R 'Don’t be late’ ®1 ' Bin’k

drom som’ ¥ fer@r | S s YW & 'Jate’ & T T @:
® frok
® rakas

® drom



® som
Correct Answer :-som
23)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AW 31&R B 4GAT B GRT IOIT :

ZZyy XX _7Z _yXXXX _Z
® XXyz
® yxzx
® yXxyx
® X7ZyXx
Correct Answer :-xxyz
24)

Question Stimulus :-

Tilak has spent Rs. 234 on buying books and Rs.162 on stationery out of the Rs. 642 he had at the
beginning of the day. How much money did he spend on food if he had Rs. 100 left at the end of the day?

/ foa® 9 642 Tuai A @, ot o & 3RH A I U™ 9, frad @ea & o 234 T @d [P siR 162 F
WA W I HivH R fra @ 52 afe f}F & 9wl ©R 39% U 100 & a9 342

®* Rs.116
® Rs.146
® Rs.164
®* Rs.200

Correct Answer :-Rs.146

25)
Question Stimulus :-

40% of 660 is ./ 660 BTA0% T |
* 200

* 140



e 224

°* 264
Correct Answer :-264
26)

Question Stimulus :-
In a certain code ‘Accept my offer’ is written as 'septa fok cofon’; 'Pay my bill’ is
written as ' doka fok toda’ and ' Pay by cqsh’ is written as 'zoda toda foda’ . In that
code the word for 'bill’ is: / &t W ®Is H, 'Accept my offer’ ®) ' septa fok cofon’  ferar 8
; '"Pay my bill’ P! ' doka fok toda’ ¥ fer@n % 3R Pay by cash’ P! 'zoda toda foda’ ¥ ferar %l
I Hed bill’ & T o= B:

® septa

® fok

® foda

® doka
Correct Answer :-doka
27)
Question Stimulus :-

If HEAT is coded as JGCV, how is MILD coded? / Gf¢ HEAT &1 JGCV A HIfed fpar wrar g, ot
MILD &I &3 ®ifsd foar &rar a2

e OJMF

® OKNF

* OLOG

* OKOG
Correct Answer :-OKNF
28)

Question Stimulus :-

The ratio of income to the saving of Rahul is 11:2. What is the expenditure if the saving is Rs. 760? / Jgd
P HHIZ | T9d BT U 11:2 3| S T9d 760 ¥ B, O W=l w1 82



® Rs. 1470
® Rs. 3420
® Rs. 2450
® Rs. 6840

Correct Answer :-Rs. 3420

29)

Question Stimulus :-

My ATM card number is: 4686441015002583. Check which of the following is the same as the ATM card number:

/ AY ATM BTS B HBT 4686441015002583 | ST B3 o I A T B ATM TS HBIT & GHH |
°  4668441015002583
*  4686441105002583
*  4686441405002853
°  4686441015002583

Correct Answer :-4686441015002583

30)
Question Stimulus :-

Amit a furniture seller plans to sell a table for Rs. 720. If he gains 20% what is the cost price of the table?

/ 3ifid T iR fAspar U A9 31 720 & § 99 Y AT 16T & IR 98 20% ATY UTaT 2, af A 91
A DI T 8?2

® Rs.600
* Rs.720
® Rs.575
® Rs.850

Correct Answer :-Rs.600

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-



If A, B and C are the interior angles of a triangle, then cot A = / gfe A, B 3R
C U% fA®I0r & 3id: BT g, @ cot A =

o n(B+C/2)
o tan(90-4/2)
o cot{B+C/2)
o cot{90-4/2)

Correct Answer :-1(3+C/2)

2)
Question Stimulus :-

A solid cylinder has a total surface area of 231 m2. If its curved-surface area is two-third
of the total surface area, the volume of the cylinder is AL 3 99 FT Pd

%{gaawz31lﬂa2%|uﬁww-mam,wq@uammﬁ-ﬁ?ﬁ%,a‘rammm
|

® 269.5m3

* 385m3

* 308m3

* 363.4m3
Correct Answer :-269.5 m3
3)
Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /=ﬁ% %Q T YTH BT

g B 3R wel BT IR 31 IR F e srgufe el R R #31



120

100 -
20
2 o, |® a0 50
= OMarmnal
A 60 -
= OlUndenweight
2 47 B8 G aHl
" H
20
0
A B C O
Places

Which of the following places has least normal weight ladies? /ﬁ";'l' H forT w=T | 9THT 999 Bt 'FI'%?ITQ'
GER R

Correct Answer :-D

4)
Question Stimulus :-

A steel spoon is placed inside a glass when boiling water is being poured into it so that / 5Td Tdh firema o
T Ui ST STaT € @) S 3reR U ST B I ¥ od @ Forvw P

® the spoon absorbs heat & prevent the glass from breaking / JHHd & HHI &1 raenfia & ey &
e I Aol

* the spoon contracts & prevent the glass from breaking / T dHfId giH: A &I ge
q A |

® the spoon expands & contracts / 9T '\‘I@'ﬁﬁf 3R vTid E?f
® the spoon keeps the temperature steady / I dTUHTA P RR CELILY LEC]

Correct Answer :-the spoon absorbs heat & prevent the glass from breaking / I &HTHI Ca|

ARG HY a9 &1 ged | AP |

5)

Question Stimulus :-



3 125 3 125
What is the value of ! 1096 ? / 1096 ST T HH 82

5
Correct Answer :-16

6)
Question Stimulus :-
CANCELLED

What is the value of k for which the equation will have one root equal to
zero? / k &1 4 forad o aieor 1 te ga I & SR1ER ghim?

o k=-2
o k=1

o ki=-1
e k=-3

Correct Answer :-k=-3
7)
Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /=ﬂ%f %E T T BT

AT P 3R Wl BT IR &1 SR F e srgufa goul R famr #31



120

100 +

30 20

a0 40

&0

OMomnal

60
OlUndenweight

01 . il

Mo, oflLadies

20 4

Places

Which of the following places has 30% of normal weight ladies out of Total number of ladies? / g d 9 foe @Al

H afgarsii @1 $a I=m A A 30 U= I a9 B Afgang §2

D
° A
Correct Answer :-A
8)

Question Stimulus :-

A girl of height 90 cm is walking away from the base of a lamp post at a speed
of 1.2 m/second. If the lamp is 3.6 m above the ground, find the length of her
shadow after 4 seconds. / T& 90 I IS F! dSH! TP dH U & IMUR A 1.2 Hi/APvs &
AT A X W1 @) 21 AR A A A 3.6 Wiex B 318 W §, dl 4 AFHUS & 91 SUD! WO D TR
IREAIGET

® 1.6m

® 32m

® 09m

® 4m
Correct Answer :-1.6 m
9)

Question Stimulus :-

In a collision between a heavier object & a lighter object ,the body that experiences greater force is / YR

] 3R &Pl g P ST cap | a8 g Wil AP T BT 3JHT BN



® Lighter body / ol a3

® Heavier body / U a¥]

® Both experience same force /ﬂ*ﬁ HHTA ¢ BT 3(JHd G|

® Neither of them experience any force /G‘Iﬁ I iﬁi ff fft 7@ &1 SJHd T Hft
Correct Answer :-Both experience same force /aT-ﬁ HHTA ¢ BT 3JHd HN
10)

Question Stimulus :-

Iodine is required in man for the production of / I A madH Ry A 9
& Iare & e mavae @

® Insulin / S

* Adrenaline / UfSAfA

® Thyroxine / YTARITRIT

« Pyridoxine / fuf¥sifea=
Correct Answer :-Thyroxine / YTARIfRIA
11)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /=n% %Q T T BT

g Y 3R Wl BT IR 3| IR F e srgufa goul W R #31

120
100
20
2 o, |® a0 50
= OMarmnal
A 60 -
o olUndemweight
2 91 = i o1
&0
20 1
0
A B C D
Places

Which of the following places has equal number of underweight and normal ladies? / g a9 oo Wl | oreu g
3R ATHT Afgensii @t W= a9 82

* A



*D
® None of the above/BTR.ﬁﬁ | aﬂi qﬁ

Correct Answer :-C

12)
Question Stimulus :-

What is 20 degrees in radians? /m ¥ 20 f&3ft «0 @TIT?
® 0.17rad /¥f&TA
* 0.68rad /ST
* 0.34rad/3fSTA
* 0.42rad /3FSTA

Correct Answer :-0.34 rad / &g

13)
Question Stimulus :-

Which among the parts given below is NOT a part of the Pistil / 5 fau ¢ Y & I A1
TR BT YT L 82

* Filament / ©d

e Style / afd®r

* Stigma / afcTd

* Ovary / SiSRM
Correct Answer :-Filament / dg
14)

Question Stimulus :-

The product of two 2-digit numbers is 2028 and their HCF is13. The numbers
gre . / & 2-3(F B TEA3{f HT TUHEH 2028 § 3R ITHT HCF 13 31 TBAY
i |

® 26,78




® 39,52

® 13,156

® 36,68
Correct Answer :-39,52
15)

Question Stimulus :-

The process of removal of metabolic waste from the body is known as / IR T IuTTRh m

frswTaT 3t uforan &1 <=1 ST @
e Egestion / Sg&Ur
® Excretion / 3cdo
® Exhalation / 1%

® Perspiration /ﬁﬁ
Correct Answer :-Excretion / Scdoi
16)

Question Stimulus :-

Which of the following functions is NOT affected in the absence of golgi apparatus in cells? / ARG R

Tiieolt SUHRUT Bt SquiRAfa & 7 A | P a1 &rd yutfaa a8 giar 82
® Secretion of the cell /Hﬁﬁﬁ)‘[ DI Erd
® Cell wall formation /ﬁﬁm fufr o1 fator
® Formation of lysomes / TAADBTI HI frrafor
® Synthesis of proteins / W T IIAYOT
Correct Answer :-Synthesis of proteins / M BT A=A
17)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /:ﬂ% ﬁt{ T YTE BT

g Y 3R Ul BT IR 1 IR F e srguifae e R R #31



120
100 +
a0

60

Mo, oflLadies

40

20 4

30

70

40

&0

20

OMomnal

OlUndenweight

Places

Which of the following places has least underweight ladies? / g ¥ 9 oo W=l # oreu o &t 'FI'%?ITQ' LI

Y &7

® None of the above/m 3 ﬁé ﬂﬁ

Correct Answer :-C

18)

Question Stimulus :-

If the radius of a sphere is doubled, then its surface area is increased by

W, df ST U8 §Ahd a1 A ¢ SRR |
® 50%
® 100%
® 200%

® 300%

Correct Answer :-300%

19)

Question Stimulus :-

./ °fe M Y Bsar Qi += &

AB is a fixed line segment. State the locus of the point P such that ZAPB = 90°
/ AB T fgd ¥an ws ?1 fig P &1 fawia sarsd R fs £APB = 90°

® Aline segment perpendicular to AB / AB ¥ dgad Udh G GS



® Line segment AB itself / WY ¥l TS AB
® Acircle with AB itself / T% gd ¥4 AB & HIY
® A semicircle above AB / AB P FW TUh ar%fqa

Correct Answer :-A circle with AB itself / T% gd T4 AB & TTY

20)
Question Stimulus :-

The best time for removal of weeds is JECEL LIRS &I Efﬁ T g9 ém JHY %
® Before they produce flowers and seeds / 3P GIRT g MR iV ST FA I ugdl
® At the time of tilling / Saq & 9Hg
® At the time of sowing seeds /a:'Trﬁ P T4 & JHY
® Before harvesting / I 3| ng 3 qgﬁ

Correct Answer :-Before they produce flowers and seeds /B'Ha; gIRT Yo Gﬁ? fiv ST A @ tl?ﬁ

21)
Question Stimulus :-

Uric acid is the chief excretory product in / | q0 Wﬁﬁm W A+ Bﬁ?IT %I
® Lizard /ﬁﬂﬁﬁ
e Frog / de®

e Fishes / wofemi
e Man / 9M4d
Correct Answer :-Lizard / fSusdt

22)
Question Stimulus :-

A and B start driving from O at different speeds. Their time-distance graphs are
plotted below, the X axis showing the time and the Y axis sowing the distance
covered. / ATE B, 0 ¥ g 7Ifd & 9181 I = HRd §| STP THI-g3I UTH &I 1 Tatad T
?, X 31& THY TF Y 38 a9 Pt T g8 B g=ifar 3|



. -
Distance ﬂ-’"d____j;?L-__-
x’f-f ,.-"*f

-

-
o~

I~

1 2 3 4 3 6 Time

Which of the following statements are correct? / s——n?r q PH-BH A YT I %'?

1. A maintained uniform speed throughout the journey. / A 3 T8 961 & SRM TS UM Tfd
TR 3|

2. B’s drive was interrupted for about an hour and a half. / B T 91d $d S¢ U< & forg amfdd

gl

3. A’s speed was never 0, but is acceleration throughout the race was 0. / A &1 7fd &4t 2t 0
Tt Y, wg T8 ¥ & IR @RO1 0 AT

4. B’'s speed was 0 at some stage in the race but his acceleration was never 0. / W F ERE B

P 0 $© WRUT A 0 A, Rg R ITHT w1 Hf ot 0 & U
° 1,283
* 122
°* 1,284
° 1,2,384
Correct Answer :-1,2&3
23)

Question Stimulus :-

A virtual, erect & equal sized image is formed by a / TP Gﬂ‘l-l'l?ﬂ, R ik AT PR BT
BIDICES) & g1 fAffa gar 81

® Concave mirror / 3ddd a‘CfUT
® Convex mirror / 3¢ E'lfUT
® Plane mirror / HHdd a‘thT

® Both concave & convex mirror/ﬂ‘ﬁ 3add 3R I9d E'EfUT



Correct Answer :-Plane mirror / FHdd GUUT

24)
Question Stimulus :-

The human eye lens focuses image of the objects at various positions by the

action of / A4 AF A9 axgaii @t B4 ¥ ord gr1 faftry fRufodl ¥ S sar 21
* Iris / UfaTR®T
* Pupil / gl
* Retina / EfPUcH
e Ciliary muscles / G&ATIH®Y Uh

Correct Answer :-Ciliary muscles JA > R G AR E|

25)
Question Stimulus :-

The HCF and LCM of two numbers are 50 and 250, respectively. If the first number is divided by 2, the quotient is 50.

Find the second number. / a’rmamﬁ%? HCF 3R LcM SPHT: 50 3R 250 %'I gfe us?ﬁa'@naﬁ 2 ¥ fywnfora
®1, A URTH 50 BT 81 gst |E a1

® 50
® 100
® 125
® 250
Correct Answer :-125

26)

Question Stimulus :-

Cloudy nights are warmer than clear nights because / E’Iﬂ?ﬁ arelt Id JTH Il DY sr&&n 3rferep e a?ﬂ %
e

® Clouds become warmer due to conduction / dTdd * PR diqd 3rfere 33[ T %'I
® Clouds become warmer due to radiation /ﬁﬁbTUT » PRI CIFG) 3rfirep e ﬁ CIG] %I
® (Cloud acts as an insulator / dTgd SHRIS &t Hifa &rd sa %'I



® Cloud allows heat to pass through / dTgel HTHT &1 uia Eﬂﬁ é?r %'I
Correct Answer :-Cloud acts as an insulator / IT¢d SR $1 Hifa ST B 2

27)
Question Stimulus :-

Modern Submarines are designed long, cylindrical & rounded ends. The rounded ends help in ensuring that /

Yfe vgfaat ddl, ITeR 3R MarerR RR & 9918 wret 81 Merer R a8 gHfya s &
HETgdl $3d @ b

® There is no pressure of deep sea on the submarine /TI?-Q' qYx bl u=r§&'ﬁ '3 ?ﬁ'&; ald 7-|'(>pf %

* Pressure is increased on the submarine / g gl UR §¢ SIdT 8

® Pressure is decreased on the submarine / mm@ﬁwms‘rm%

® Pressure is evenly distributed on the surface of the submarine /qﬂw P! gdg W & G99 ©9 I
foafka grar &

Correct Answer :-Pressure is evenly distributed on the surface of the submarine /qT-I'W P A R
o9 AT w9 ¥ faafa gar 8

28)
Question Stimulus :-
(4x2-9) X (2x2-3x+1)/ (2x-3) =?
* 4x-3
e 3x-4
* 2x-3
e 1
Correct Answer :-2x-3
29)

Question Stimulus :-

Asha found that two steel tumblers were stuck inside each other .So to separate the two tumblers easily she
warmed them on a gas stove. This she did it because / 3ITRIT C] 33[ THId & el &t Th w & 3
BT AT U I & el &t SR | gus a3 & fY 399 1@ 19 g W I8 T fhar| 39
o1 gt forar wife



® Metals contract on heating & expand on cooling / YTq T AW H?&H Eﬂ'cﬁ % 3R ST Ea;ﬁ R
v gidt g1

® Metals expand on heating & contract on cooling / YTq T He W ugTiRd gl % 3T ST THAW
HPpiud gidt gl

® Heat transfer is through radiation /ﬁw GIRT ST L) EIGIEG ﬁ?ﬁ %I
® The temperature of both the tumbler is increased /Eﬂ‘ﬁ frar & dargEE § q@ ﬁ?ﬁ %I

Correct Answer :-Metals expand on heating & contract on cooling / YTqd TH HA W ugTiRd ﬁ?ﬂ %

3R 38T gH W Apfua gidt 3

30)
Question Stimulus :-

In Jal tarang ,the sound made by the glass with the highest level of water produce / ST&l =T ﬁ, od &
S wWR & 1Y e gRT S safy Iaa wvdl 8

® Highest pitch / 3=dH dRd
® Lowest pitch / Feaw R
® High frequency / 3= 3|'I§ﬁf
® Low frequency / o &nqﬁr

Correct Answer :-Highest pitch / 3=dH dRd



